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&5 K 4 .(%r.né; Tum\(z)wﬂlf_-%ﬁ jj(gilicn-ié & 4 Tumﬁ%;&)\;qu ﬁ'n%{ jj(gilicn-ié & 4 .(Er,n? J:uﬁﬁfJ\(z)(DJ:t:% jj(gzlzcn%é X 4 _tuﬁﬁb\(z)d)tt% .if jj(gﬁné)é
; 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 744 94.96 | =hst | 0oo ~ 0.00| 1.68 8.60 ZznLst 1.00 | 5.00 ~ 9.90 94.96 | =N | 5,00 ~ 9.90 | 1.68 8.50
2 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 7.36 93.84 | =hst | 0oo ~ 736|183 9.25 ZznLst 1.00 | 5.00 ~ 9.60 93.84 | =nLs | 5,00 ~ 9.60 )] 1.83 925
3 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 732 93.34 | =hst | 000 ~ 732|185 9.37 ZznLst 1.00 | 5.00 ~ 9.61 93.34 | =N | 5,00 ~ 9.61)]1.85 9.37
4 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 752 96.19 | =S | 000 ~ 7562|227 11.48 zhnLs 1.00 | 6.00 ~ 10.02 96.19 | =ns | 5,00 ~ 1002)| 227 11.48
5 100kN/m#%#BZ5| 1.00| 000 ~ 202 13124 |3mZEBzB| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 1057 ~ 1800| 131.24 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 202 ~ 9.81 100.00 | =LAy | 000 ~ 981|243 12.27 ZznLst 1.00 | 6.00 ~ 1057 100.00 | =N | 6,00 ~ 1800 | 2.43 12.27
¢ 100kN/m#%#BZ25| 1.00| 000 ~ 068 110.19 |3mZEBzZB| — ~ — — — | 100kN/mi%&#BZ% | 1.00 | 11.44 ~ 1400 110.19 |3mEBZ5 -~ — — —
ZznLst 1.00 | 0.68 ~ 847 100.00 | =0y | 000 ~ 847| 2.00 10.13 ZznLst 1.00 | 6.00 ~ 1144 100.00 | =N | .00 ~ 14.00 | 2.00 10.13
. 100kN/mM%#8Z5 | 1.00 | 0.00 ~ 0.81 112.04 |3mZEBRZ| — ~ — — — | 100kN/mi%E#BZ5 | 1.00 | 1084 ~ 1350 112.04 |3mEBZ5 -~ — — —
ZznLst 1.00 | 0.81 ~ 859 100.00 | =0 | 000 ~ 859|207 10.47 ZznLst 1.00 | 6.00 ~ 1084 100.00 | FnLSY | 6,00 ~ 1350 | 2.07 10.47
3 100kN/m#Z#B25| 1.00| 000 ~ 022 10325 |3m&EBZZ| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 11.44 ~ 1218 103.25 |3mZE#BZ3 - ~ — — —
ZznLs 1.00 | 0.22 ~ 801 100.00 | =04y | 000 ~ 801|200 10.13 ZznLst 1.00 |1 6.00 ~ 1144 100.00 | =nst | .00 ~ 1218 2.00 10.13
9 100kN/MZ#8 % % — -~ = —|3mE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — —
ZznLs 1.00 1 000 ~ 767 98.35 | =hs | 0oo ~ 767|210 10.61 ZznLst 1.00 1 6.00 ~ 1040 98.35 | #nLS | 5,00 ~ 1040)2.10 10.61
70 100kN/m%Z#BZ5| 1.00 | 000 ~ 030 104.42 |3mEBZB| — ~ — — — | 100kN/mZ#Z5 | 1.00 | 1065 ~ 11.50| 104.42 |3mZE#BZ3 - ~ — — —
ZznLs 1.00 | 0.30 ~ 808 100.00 | =nsY | 000 ~ 808|211 10.68 ZznLst 1.00 1 6.00 ~ 10.65 100.00 | =hS | 6,00 ~ 1150|211 10.68
17 100kN/m%Z#BZ5 | 1.00 | 000 ~ 166 12540 |3mEBZB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 11.04 ~ 1830 12540 |3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 1.66 ~ 9.44 100.00 | =nLlsy | 000 ~ 944|222 11.22 ZznLst 1.00 1 6.00 ~ 11.04 100.00 | =nst | .00 ~ 1830|222 11.22
19 100kN/m%Z#BZ5| 1.00 | 000 ~ 1.36| 120.56 |3mEBZB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 11.13 ~ 1670 120.56 |3mZEBZS -~ — — —
ZznLs 1.00 | 1.36 ~ 9.14 100.00 | =0y | 000 ~ 914|221 11.16 ZznLst 1.00 1 6.00 ~ 1113 100.00 | =hS | 6,00 ~ 1670|221 11.16
13 100kN/m#%#B25| 1.00| 000 ~ 1.839| 12119 |3mZEkBzB| — ~ — — — | 100kN/m%Z#Z5 | 1.00 | 11.564 ~ 1815 121.19 |3mZE#BZ3 - ~ — — —
ZznLs 1.00 | 1.39 ~ 9.18 100.00 | =0y | 000 ~ 918217 10.95 ZznLst 1.00 1 6.00 ~ 1154 100.00 | =hS | 6,00 ~ 1815|217 10.95
14 100kN/m%#B25| 1.00| 000 ~ 140 121.24 |3mZEBZZ| — ~ — — — | 100kN/mi%#B25 | 1.00 | 1054 ~ 1520 121.24 |3m&EiBZ5 - ~ — — —
ZznLst 1.00 | 1.40 ~ 9.18 100.00 | =04y | 000 ~ 918|235 11.58 ZznLst 1.00 1 6.00 ~ 10.54 100.00 | FhS | 5,00 ~ 1520 | 2.35 11.88
15 100kN/m%Z#BZ5| 100|000 ~ 113| 117.11 |3mEBZB| — ~ — — — | 100kN/mi%Z#Z5 | 1.00 | 10566 ~ 1403 117.11 |3mZE#BZ3 - ~ — — —
LS 100|113 ~ 892 100.00 | TnLs | 000 ~ 892|223 11.26 zhnLst 1.00 | 5.00 ~ 1056 100.00 | ThS | 500 ~ 1403| 2.23 11.26
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P 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 765 98.08 | =hst | 000 ~ 765|217 10.95 zhn s 1.00 | 6.00 ~ 10.20 98.08 | =nst | 5,00 ~ 1020|217 10.95
17 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ - — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.70 84.60 | =hst | 0oo ~ 000|174 877 ZznLst 1.00 | 5.00 ~ 8.10 84.60 | =nLs |5.00 ~ 810|174 8.77
18 100kN/MZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/M%Z# %3 — - ~ — —|3mZE#BZ3 - ~ — — —
ZznLst 1.00 | 0.00 ~ 6.39 80.38 | =hst | 0.oo ~ 0.00| 1.68 8.01 ZznLst 1.00 | 5.00 ~ 8.20 80.38 | #nLst | 5,00 ~ 820 1.568 8.01
19 100kN/m#%#BZ5| 1.00| 000 ~ 050 10741 |3mZEBZB| — ~ — — — | 100kN/mi%E# 825 | 1.00 | 1060 ~ 1205| 107.41 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 0.60 ~ 829 100.00 | =nlsy | 000 ~ 829|213 10.76 ZznLst 1.00 | 5.00 ~ 10.60 100.00 | #nRS | 6,00 ~ 1205|213 10.76
20 100kN/mMZ#8Z5| 1.00 | 0.00 ~ 1.31 119.77 |3mZEBRB| — ~ — — — | 100kN/mi%E#BZ % | 1.00 | 1086 ~ 1572 119.77 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 1.31 ~ 9.09 100.00 | =0y | 000 ~ 9.09| 225 11.36 ZznLst 1.00 | 5.00 ~ 10.86 100.00 | FnRSY | 6,00 ~ 15.72| 2.25 11.36
21 100kN/mM%#BZ5 | 1.00 | 0.00 ~ 0.81 112.04 |3mZEBRZ| — ~ — — — | 100kN/m%#B%25% | 1.00 | 1053 ~ 1291 112.04 |3mZE#EZ5 -~ — — —
ZznLst 1.00 081 ~ 859 100.00 | #nLst | 000 ~ 859|217 10.98 zhnLs 1.00 | 6,00 ~ 1053 100.00 | =hLS | 5.00 ~ 1291|217 10.98
22 100kN/m#%#BZ5| 1.00| 000 ~ 036 10528 |3mZEBzB| — ~ — — — | 100kN/mi%E#BZ 5 | 1.00 | 1059 ~ 11.60| 105.28 |3m&EBZ5 -~ — — —
ZznLst 1.00 | 0.36 ~ 814 100.00 | =nlsy | 000 ~ 814|213 10.78 ZznLst 1.00 | 5.00 ~ 10.59 100.00 | =N | 6,00 ~ 1160|213 10.78
23 100kN/m#%#BZ25| 1.00| 000 ~ 036| 10532 |3m&EBZB| — ~ — — — | 100kN/mZ#Z5 | 1.00 | 11.61 ~ 1290 10532 |3mZE#BZ3 - ~ — — —
ZznLs 1.00 | 0.36 ~ 815 100.00 | =nlsy | 000 ~ 815| 1.99 10.06 ZznLst 1.00 |1 6.00 ~ 1161 100.00 | =nst | 65,00 ~ 1290 | 1.99 10.06
Py 100kN/M%Z#BZ5 | 1.00 | 000 ~ 045| 106.70 |3mEBZB| — ~ — — — | 100kN/mZ#Z5 | 1.00 | 1053 ~ 11.78| 106.70 |3mZE#BZ3 -~ — — —
ZznLs 1.00 | 0.45 ~ 824 100.00 | =04y | 000 ~ 824|219 11.05 ZznLst 1.00 1 6.00 ~ 1053 100.00 | =ns | 6,00 ~ 11.78| 219 11.05
25 100kN/mM%#BZ5| 1.00 | 000 ~ 061 109.06 |3mZE#BABHl — ~ — — — | 100kN/M%E#B25 | 1.00 | 1053 ~ 1225\ 109.06 |3mE#BZ5 -~ — — —
ZznLs 1.00 | 0.61 ~ 839 100.00 | =nlsy | 000 ~ 839|220 11.11 ZznLst 1.00 1 6.00 ~ 10.53 100.00 | =nst | 6,00 ~ 1225|220 11.11
2% 100kN/mMZ#B % % — -~ = —|3mE#BZB| — ~ — — — | 100kN/Mi%#Z % — - ~ — —|3mZE#BZ 3 - ~ — — —
ZznLst 1.00 | 000 ~ 731 93.22 | =hst | 0oo ~ 731|187 9.45 ZznLst 1.00 | 5.00 ~ 9.66 93.22 | #nS | 5,00 ~ 9.66 | 1.87 945
27 100kN/mMZ#8 % % — -~ = —|3mEBZB| — ~ — — — | 100kN/Mi%#Z % — - ~ — —|3mZE#BZ 3 - ~ — — —
ZznLs 1.00 | 0.00 ~ 758 97.08 | Thst | 0oo ~ 758|230 11.62 ZznLst 1.00 1 6.00 ~ 1026 97.08 | #nLs | 5,00 ~ 1026)2.50 11.62
28 100kN/mMZ#8 % % — -~ = —|3mE#BZB| — ~ — — — | 100kN/Mi%#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — —
ZznLs 1.00 1 000 ~ 757 96.90 | Thst | 0oo ~ 757|281 11.66 ZznLst 1.00 1 6.00 ~ 1026 96.90 | =nLS | 5,00 ~ 1026|231 11.66
29 100kN/mMZ#B % % — -~ = —|3mE#BZB| — ~ — — — | 100kN/Mi%Z#8Z % — - ~ — —|3mZE#BZ 3 - ~ — — —
ZznLst 1.00 1 000 ~ 477 59.46 | Th4s | 0oo ~ 000|170 8.61 ZznLst 1.00 | 5.00 ~ 5.00 59.46 | =nLS | 5,00 ~ 500 1.70 8.61
100kN/mMZ#8 % % ~ 3ImEHEZD ~ 100kN/mZ#BZ % ~ 3ImERZD ~
zhnList ~ zhn s ~ zhnLst ~ Zzh st ~
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